2dAy sisau915AH .

Installation Example

HO

Clutch

HO-0.6, 1.2, 2.5, 5,

10

Bearing

Output pulley

ok

Hexagon head bolt &

Spring washer

/Input pulley
; ]:( ,

.Ea';r

Hexagon socket

head cap screw

Hexagon socket

Fixing stand Fixing stand
; LA
700
Hexagon socket head cap screw
’f & Spring washer
Coupling H/

Model Rated torque(Nm) Rated voltage(DC-V) | Power consumption at75°C(W) Mass(kg)
HO-0.6 0.06 24 9.6 0.46
HO-1.2 0.12 24 11.6 0.70
HO-2.5 0.25 24 12.8 1.0
HO-5 0.5 24 14.6 1.7
HO-10 1 24 17.4 4.0
- L
Y2 Mounting tap 3-YJ
Q1 M Q2 Ensure that the
mounting screw
=QK= XL \%f S - T ) tightening depth to
Lead wire be less than 6 mm
W\
iy
><E
A \
A L L\ @
. = & N
I~ S ] SRS )
|
! — /|
Output
shaft N
- >
| on
G
@d1h7 ¢+L
¢dan7 |t
Output shaft diameter
Input shaft diameter
Unit : mm
Diameter direction Shaft direction Attachment Shaft end
Model YJ
B | C |[Di|D2| L |M|N| S| T/|Y1]|VY2|PCDTap| Q1| Q2 |QK| di |d2 | t1 | t2
HO-0.6 52| 48 16 | 26 | 81| 47 | 21 6 |10 | 5 2 | 36 [M5X6| 13 |18 11 5|10 (45| 95
HO-1.2 60 | 56 19 | 28 | 92|55 |23 | 6 | 12 | 6 2 | 40 [M5X6| 14 |20 12 6| 12 |55 |11.5
HO-2.5 70| 646 | 22 | 32 [100| 59 |25 | 6 | 14 | 7 2 | 50 [M5X6| 16 |22 14 7|14 | 6.5 |13.5
HO-5 85|78 | 24|35 (11064 |28 | 6 | 16 | 8 3 | 60 M5X6| 18 |24 16 8|16 | 7.5 |15.5
HO-10 112 [105 26 | 42 (121 | 68 | 31 6 18 8 3 70 |M5X6| 22 |26.8| 20 | 10 | 18 | 9.5 (17.5
252

9dA1 sIsa1915AH .



